

INEQUALITIES FOR GAUSSIAN HYPERGEOMETRIC FUNCTIONS

XIAO-YAN MA* AND TI-REN HUANG

(Communicated by J. Pešarić)

Abstract. In this paper, the authors present several hypergeometric transformation inequalities for the Gaussian hypergeometric function $F(a, b; c; x)$, which are the extensions of the known hypergeometric transformation identities such as Ramanujan's cubic transformation identities, by showing the monotonicity properties of certain quotients of $F(a, b; c; x)$ and its special cases. By these results, some related known results are considerably improved.

1. Introduction

Throughout this paper, we let $\mathbb{N} = \{1, 2, 3, \dots\}$ and $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$. For $a, b, c \in \mathbb{R}$ with $c \neq 0, -1, -2, \dots$, the Gaussian hypergeometric function is defined by

$$F(a, b; c; x) = {}_2F_1(a, b; c; x) = \sum_{n=0}^{\infty} \frac{(a, n)(b, n)}{(c, n)} \frac{x^n}{n!} \text{ for } |x| < 1, \quad (1)$$

where (a, n) denotes the shifted factorial function

$$(a, n) = a(a+1)(a+2)(a+3) \cdots (a+n-1) \quad (2)$$

for $n \in \mathbb{N}$, and $(a, 0) = 1$ for $a \neq 0$. $F(a, b; c; x)$ is said to be zero-balanced if $c = a + b$.

It is well known that $F(a, b; c; x)$ has many important applications in various fields of the mathematical and natural sciences, and many other special functions in mathematical physics are particular cases of this function (cf. [10, 11, 12, 16]).

One of the important special cases of $F(a, b; c; x)$ is as follows

$$F_s(x) = F\left(\frac{1}{2} - s, \frac{1}{2} + s; 1; x\right) = \sum_{n=0}^{\infty} \frac{(1/2 - s, n)(1/2 + s, n)}{(n!)^2} x^n, \quad (3)$$

for $s \in (-1/2, 1/2)$ and $x \in (0, 1)$. It is interesting that some properties of the function F_s can be directly applied to obtain properties of the compound means, and the elliptic series for $1/\pi$ (see [6]).

Mathematics subject classification (2010): 33C05, 39B62.

Keywords and phrases: Gaussian hypergeometric function, Ramanujan's transformation, infinite product.

* Corresponding author.

There have been many studies of the properties of F_s for the special cases when $s = 0, 1/6, 1/4$. The main results of these studies are as follows: In [4], Baricz presented some Landen inequalities (namely, in the case $s = 0$) for the Gaussian hypergeometric function; In [15] ([13, 14]), Wang, Chu and Jiang extended some quadratic transformation identities in the case when $s = 1/4$ (cubic transformation identities for $F(1/3, 2/3; 1; x)$ in the case when $s = 1/6$, respectively) to hypergeometric transformation inequalities for zero-balanced Gaussian hypergeometric function. However, there are few similar studies for the case when $s = 1/3$. Naturally, it would be more significant for us to extend a general hypergeometric identity satisfied by $F(1/2 - s, 1/2 + s; 1; x)$ to hypergeometric transformations inequalities for the Gaussian hypergeometric function.

On the other hand, many other beautiful hypergeometric transformation identities have been known to us, among which are the followings: In [7, (2.31)], Gavravan presented the following transformation identity

$$F\left(a, a + \frac{1}{2}; \frac{4}{3}a + \frac{2}{3}; \frac{8r(1+r)}{(1+3r)^2}\right) = (1+3r)^{2a} F\left(a, a + \frac{1}{2}; \frac{2}{3}a + \frac{5}{6}; r^2\right), \quad (4)$$

and in [5], Berndt, Bhavgave and Garvan proved the following identity

$$F\left(a, a + \frac{1}{3}; \frac{a}{2} + \frac{5}{6}; \left(\frac{1-r}{1+2r}\right)^3\right) = \left(\frac{1+2r}{3}\right)^{3a} F\left(a, a + \frac{1}{3}; \frac{3}{2}a + \frac{1}{2}; 1-r^3\right). \quad (5)$$

Taking $a = 1/4$ in (4) and $a = 1/3$ in (5), we obtain the following well-known quadratic transformation identity

$$F\left(\frac{1}{4}, \frac{3}{4}; 1; \frac{8r(1+r)}{(1+3r)^2}\right) = \sqrt{1+3r} F\left(\frac{1}{4}, \frac{3}{4}; 1; r^2\right) \quad (6)$$

and the Ramanujan's cubic transformation identity

$$F\left(\frac{1}{3}, \frac{2}{3}; 1; \left(\frac{1-r}{1+2r}\right)^3\right) = \frac{1+2r}{3} F\left(\frac{1}{3}, \frac{2}{3}; 1; 1-r^3\right), \quad (7)$$

respectively, which were stated by Ramanujan in his unpublished notebooks.

Changing r to $(1-r)/(1+3r)$ in (4) and r to $(1-r)/(1+2r)$ in (5), we obtain the following identities

$$F\left(a, a + \frac{1}{2}; \frac{2}{3}a + \frac{5}{6}; \left(\frac{1-r}{1+3r}\right)^2\right) = \left(\frac{1+3r}{4}\right)^{2a} F\left(a, a + \frac{1}{2}; \frac{4}{3}a + \frac{2}{3}; r^2\right), \quad (8)$$

$$F\left(a, a + \frac{1}{3}; \frac{3}{2}a + \frac{1}{2}; \frac{9r(1+r+r^2)}{(1+2r)^3}\right) = (1+2r)^{3a} F\left(a, a + \frac{1}{3}; \frac{a}{2} + \frac{5}{6}; r^3\right), \quad (9)$$

where $r' = \sqrt{1-r^2}$.

The main purpose of this paper is to extend the hypergeometric transformation identities satisfied by $F(1/2 - s, 1/2 + s; 1; x)$ for $s \in (-1/2, 1/2)$ to the hypergeometric transformation inequalities for $F(a, b; c; x)$ by showing the monotonicity properties

of the ratio of $F(a, b; c; x)$ and $F(1/2 - s, 1/2 + s; 1; x)$, and to extend the identities (4)–(9) with certain conditions fulfilled by the parameter a to transformation inequalities for the Gaussian hypergeometric functions, the Kummer hypergeometric function and the Bessel function. Some of these results improve the related known results.

At the end of this section, we recall the following lemma needed in the proofs of our main results.

LEMMA 1. (See [9, Lemma 2.1]). *Suppose that the power series $f(x) = \sum_{n=0}^{\infty} a_n x^n$ and $g(x) = \sum_{n=0}^{\infty} b_n x^n$ with $b_n > 0$ for all $n \in \mathbb{N}_0$ have the common radius of convergence $r > 0$. If the non-constant sequence $\{a_n/b_n\}_{n=0}^{\infty}$ is increasing (decreasing), then the function $h(x) = f(x)/g(x)$ is strictly increasing (decreasing, respectively) on $(0, r)$.*

2. Main results

THEOREM 1. *Let $a, b > 0$, and $c \in \mathbb{R}$ such that c is not a negative integer or zero. Then we have the following conclusions:*

(1) *If $b \geq \max\{c - a/3 - 1/6, 3c/4\}$ and $a \geq 1/4$, then for $r \in (0, 1)$,*

$$F\left(a, b; c; \frac{8r(1+r)}{(1+3r)^2}\right) \geq (1+3r)^{2a} F(a, b; c; r^2), \tag{10}$$

$$F\left(a, b; c; \left(\frac{1-r}{1+3r}\right)^2\right) \leq \left(\frac{1+3r}{4}\right)^{2a} F(a, b; c; 1-r^2). \tag{11}$$

Moreover, if $b \leq \min\{c - a/3 - 1/6, 3c/4\}$ and $a \leq 1/4$, then the inequalities (10) and (11) are both reversed.

(2) *If $b \geq \max\{c - a/2 - 1/6, 2c/3\}$ and $a \geq 1/3$, then for $r \in (0, 1)$,*

$$F\left(a, b; c; \frac{9r(1+r+r^2)}{(1+2r)^3}\right) \geq (1+2r)^{3a} F(a, b; c; r^3), \tag{12}$$

$$F\left(a, b; c; \left(\frac{1-r}{1+2r}\right)^3\right) \leq \left(\frac{1+2r}{3}\right)^{3a} F(a, b; c; 1-r^3). \tag{13}$$

Moreover, if $b \leq \min\{c - a/2 - 1/6, 2c/3\}$ and $a \leq 1/3$, then the inequalities (12) and (13) are both reversed.

Proof. (1) Let $T_1 : (0, 1) \rightarrow (0, \infty)$ be the function defined by

$$T_1(x) = \frac{F(a, b; c; x)}{F(a, a+1/2; 4a/3+2/3; x)} = \frac{\sum_{n=0}^{\infty} \frac{(a, n)(b, n)}{(c, n)} \frac{x^n}{n!}}{\sum_{n=0}^{\infty} \frac{(a, n)(a+1/2, n)}{(4a/3+2/3, n)} \frac{x^n}{n!}},$$

and for $n \in \mathbb{N}_0$, let

$$A_n = \frac{(b, n)(4a/3+2/3, n)}{(c, n)(a+1/2, n)} \text{ and } \alpha_n = \left(b + \frac{a}{3} + \frac{1}{6} - c\right)n + \left(\frac{4}{3}b - c\right)\left(a + \frac{1}{2}\right).$$

Then the sequence $\{A_n\}$ is increasing (decreasing) if and only for all $n \in \mathbb{N}_0$,

$$\frac{A_{n+1}}{A_n} = \frac{(b+n)\left(\frac{4}{3}a + \frac{2}{3} + n\right)}{(c+n)\left(a + \frac{1}{2} + n\right)} \geq (\leq) 1 \Leftrightarrow \alpha_n \geq 0 \ (\alpha_n \leq 0, \text{ respectively}).$$

Obviously, if $b \geq \max\{c - a/3 - 1/6, 3c/4\}$ ($b \leq \min\{c - a/3 - 1/6, 3c/4\}$), then $\alpha_n \geq 0$ ($\alpha_n \leq 0$) for all $n \in \mathbb{N}_0$, that is, the sequence $\{A_n\}$ is increasing (decreasing), and consequently by Lemma 1, the function T_1 is increasing (decreasing, respectively) on $(0, 1)$.

Suppose that $b \geq \max\{c - a/3 - 1/6, 3c/4\}$ and $a \geq 1/4$. Put $x = x(r) = r^2$ and $y = y(r) = 8r(1+r)/(1+3r)^2$ for $r \in (0, 1)$. Then $0 < x < y < 1$,

$$\frac{F(a, b; c; x)}{F(a, a + 1/2; 4a/3 + 2/3; x)} \leq \frac{F(a, b; c; y)}{F(a, a + 1/2; 4a/3 + 2/3; y)},$$

so that by the formula (4),

$$\begin{aligned} F(a, b; c; x) &\leq F(a, b; c; y) \frac{F(a, a + 1/2; 4a/3 + 2/3; x)}{F(a, a + 1/2; 4a/3 + 2/3; y)} \\ &= F(a, b; c; y) \frac{F(a, a + 1/2; 4a/3 + 2/3; x)}{(1+3r)^{2a} F(a, a + 1/2; 2a/3 + 5/6; x)}. \end{aligned} \quad (14)$$

Since $a \geq 1/4$ implies that $4a/3 + 2/3 \geq 2a/3 + 5/6$, one can easily see that

$$F(a, a + 1/2; 4a/3 + 2/3; x) \leq F(a, a + 1/2; 2a/3 + 5/6; x).$$

Hence the inequality (10) follows from (14).

Similarly, if $b \geq \max\{c - a/3 - 1/6, 3c/4\}$ and $a \geq 1/4$, and if we let $u = u(r) = [(1-r)/(1+3r)]^2$ and $v = v(r) = 1 - r^2$, then $0 < u < v < 1$, and we have

$$\frac{F(a, b; c; u)}{F(a, a + 1/2; 4a/3 + 2/3; u)} \leq \frac{F(a, b; c; v)}{F(a, a + 1/2; 4a/3 + 2/3; v)},$$

so that by the formula (8),

$$\begin{aligned} F(a, b; c; u) &\leq \left(\frac{1+3r}{4}\right)^{2a} F(a, b; c; v) \frac{F(a, a + 1/2; 4a/3 + 2/3; u)}{F(a, a + 1/2; 2a/3 + 5/6; u)} \\ &\leq \left(\frac{1+3r}{4}\right)^{2a} F(a, b; c; v) \end{aligned}$$

which yields the inequality (11).

The proof of the second conclusion in part (1) is similar, and we omit the details.

(2) For $n \in \mathbb{N}_0$, let $a_n = (a, n)(b, n)/[(c, n)n!]$, $b_n = (a, n)(a + 1/3, n)/[(3a/2 + 1/2, n)n!]$ and $B_n = a_n/b_n = (b, n)(3a/2 + 1/2, n)/[(c, n)(a + 1/3, n)]$. Then

$$T_2(x) \equiv \frac{F(a, b; c; x)}{F(a, a + 1/3; 3a/2 + 1/2; x)} = \frac{\sum_{n=0}^{\infty} a_n x^n}{\sum_{n=0}^{\infty} b_n x^n}.$$

With the same method as that used in the proof of part (1), it is easy to verify that the sequence $\{B_n\}$ is increasing (decreasing), which implies that T_2 is increasing (decreasing) on $(0, 1)$ by Lemma 1, provided that $b \geq \max\{c - a/2 - 1/6, 2c/3\}$ ($b \leq \min\{c - a/2 - 1/6, 2c/3\}$, respectively).

First, we consider the case when $b \geq \max\{c - a/2 - 1/6, 2c/3\}$ and $a \geq 1/3$, and let $s = r^3$ and $t = 9r(1 + r + r^2)/(1 + 2r)^3$ for $r \in (0, 1)$. Then $0 < s < t < 1$ and

$$\frac{F(a, b; c; s)}{F(a, a + 1/3; 3a/2 + 1/2; s)} \leq \frac{F(a, b; c; t)}{F(a, a + 1/3; 3a/2 + 1/2; t)},$$

and hence by (9),

$$\begin{aligned} F(a, b; c; s) &\leq F(a, b; c; t) \frac{F(a, a + 1/3; 3a/2 + 1/2; s)}{F(a, a + 1/3; 3a/2 + 1/2; t)} \\ &= F(a, b; c; t) \frac{F(a, a + 1/3; 3a/2 + 1/2; s)}{(1 + 2r)^{3a} F(a, a + 1/3; a/2 + 5/6; s)}. \end{aligned} \tag{15}$$

Observe that $F(a, a + 1/3; 3a/2 + 1/2; s) \leq F(a, a + 1/3; a/2 + 5/6; s)$, since $a \geq 1/3$. Hence the inequality (12) follows from (15).

Second, substituting r in the inequality (12) by $(1 - r)/(1 + 2r)$, we obtain the inequality (13). \square

REMARK 1. (1) It is easy to see that the equalities (10) and (11) hold for $a = 1/4, b = 3/4$ and $c = 1$, in which case if we take $r = k^2$ in (10) and $r = k'^2$ in (11), respectively, then we obtain [12, Proposition 2.4 (i) & (ii)]. The inequalities (10) and (11) considerably improve the related known results such as [15, Theorem 2.1].

(2) It is clear that the inequalities (12) and (13) become equalities for $a = 1/3, b = 2/3$ and $c = 1$, in which case if we take $r = k$ in (12) and $r = k'$ in (13), respectively, then we obtain [11, Proposition 3.2 (i) & (ii)]. The inequalities (12) and (13) are the generalizations of [13, Theorem 2.3].

In the sequel, for $|s| < 1/2$, we let

$$\begin{aligned} D_1 &= \{(a, b) | a, b > 0, ab \leq 1/4 - s^2, ab - (1/4 - s^2)(a + b) \leq 0\}, \\ D_2 &= \{(a, b) | a, b > 0, ab \geq 1/4 - s^2, ab - (1/4 - s^2)(a + b) \geq 0\}. \end{aligned}$$

THEOREM 2. For $a, b, c \in \mathbb{R}$, c is not a negative integer or zero, and for $|s| < 1/2$, define the function Q on $(0, 1)$ by

$$Q(x) = F(a, b; c; x) / F(1/2 - s, 1/2 + s; 1; x).$$

If $a + b \geq c$ ($a + b \leq c$), and if $4ab/(1 - 4s^2) \geq \max\{1, c\}$ ($4ab/(1 - 4s^2) \leq \min\{1, c\}$), then Q is increasing (decreasing, respectively) on $(0, 1)$. In particular, if $(a, b) \in D_1$ ($(a, b) \in D_2$) with $c = a + b$, then Q is decreasing (increasing, respectively) on $(0, 1)$.

Proof. For $n \in \mathbb{N}_0$, let $\tilde{a}_n = (a, n)(b, n)/[(c, n)n!]$, $\tilde{b}_n = (1/2 - s, n)(1/2 + s, n)/(n!)^2$,

$$C_n = \frac{\tilde{a}_n}{\tilde{b}_n} = \frac{(a, n)(b, n)}{(c, n)} \cdot \frac{n!}{(1/2 - s, n)(1/2 + s, n)}$$

and $\beta_n = (a + b - c)n^2 + (ab + a + b - c - 1/4 + s^2)n + [ab - (1/4 - s^2)c]$. Then $Q(x)$ is of the following expression

$$Q(x) = \left(\sum_{n=0}^{\infty} \tilde{a}_n x^n \right) \left(\sum_{n=0}^{\infty} \tilde{b}_n x^n \right)^{-1},$$

and the sequence $\{C_n\}$ is increasing, which implies that Q is increasing on $(0, 1)$ by Lemma 1, if and only if

$$\frac{C_{n+1}}{C_n} = \frac{(a+n)(b+n)(n+1)}{(c+n)(1/2-s+n)(1/2+s+n)} \geq 1 \Leftrightarrow \beta_n \geq 0.$$

Clearly, if $a + b \geq c$ and $4ab/(1 - 4s^2) \geq \max\{1, c\}$, then $\beta_n \geq 0$ for all $n \in \mathbb{N}_0$, and the sequence C_n is increasing, and hence Q is increasing on $(0, 1)$.

The proof of the remaining conclusions are similar, and we omit the details. \square

REMARK 2. Theorem 2 extends [4, Theorem 1], [13, Theorem 2.3], [14, Theorem 2.1] and [8, Lemma 2.4] to the hypergeometric transformation inequalities for the Gaussian hypergeometric functions. The details are as follows:

(1) Set $s = 0, x = r^2, y = 4r/(1 + r^2)$ for $r \in (0, 1)$, then $0 < x < y < 1$ and $Q(x) \leq Q(y)$ or $Q(x) \geq Q(y)$ by the monotonicity property of Q , and hence [4, Theorem 1] follows from Theorem 2 and [1, (13)].

(2) Set $s = 1/6, x = r^3, y = 9r(1 + r + r^2)/(1 + 2r)^3$ for $r \in (0, 1)$, then $0 < x < y < 1$ and $Q(x) \leq Q(y)$ or $Q(x) \geq Q(y)$ by the monotonicity property of Q , and hence we obtain [13, Theorem 2.3] by Theorem 2 and [5, Corollary 2.4]. In particular, if $c = a + b$, then we obtain [14, Theorem 2.1].

(3) Set $s = 1/4, x = r^2, y = 8r(1 + r)/(1 + 3r)^2$ for $r \in (0, 1)$, then $0 < x < y < 1$ and $Q(x) \leq Q(y)$ or $Q(x) \geq Q(y)$ by the monotonicity property of Q , and hence we obtain [8, Lemma 2.4] by Theorem 2 and [5, Theorem 9.4].

In the sequel, we let

$$\omega_{n,s} = \frac{(n!)^2}{(1/2 - s, n)(1/2 + s, n)} \quad (16)$$

for $n \in \mathbb{N}_0$ and $|s| < 1/2$. It is easy to verify that the sequence $\{\omega_{n,s}\}$ is increasing. Using this sequence, one can easily extend Theorem 2 to the following theorem, whose proof is similar to that of Theorem 2 so that we omit the details.

THEOREM 3. Suppose that the power series $f(x) = \sum_{n=0}^{\infty} a_n x^n$ is convergent for all $x \in (0, 1)$, and the sequence $\{a_n \omega_{n,s}\}$ is increasing, where $a_n \in \mathbb{R}$ for $n \in \mathbb{N}_0$.

Let $\lambda_f(x) = f(x^2)$. Then the function $S(x) \equiv f(x)/F_s(x)$ is increasing on $(0, 1)$. In particular, for all $r \in (0, 1)$ and $s = 1/4$,

$$\lambda_f \left(\frac{\sqrt{8r(1+r)}}{1+3r} \right) \geq \sqrt{1+3r} \lambda_f(r). \quad (17)$$

Moreover, if the sequence $\{a_n \omega_{n,s}\}$ is decreasing, then the function S is decreasing on $(0, 1)$ and (17) is reversed.

At the end of this paper, we shall extend Theorem 3 to the generalized Bessel function [2] u_v and the Kummer hypergeometric function [3] $\Phi(p, q; \cdot)$, which are defined by

$$u_v(x) = \sum_{n=0}^{\infty} \frac{(-c/4)^n}{(\kappa, n)} \cdot \frac{x^n}{n!}, \quad \Phi(p, q; x) = \sum_{n=0}^{\infty} \frac{(p, n)}{(q, n)} \cdot \frac{x^n}{n!}, \quad (18)$$

respectively, where $v, b, c, p, q \in \mathbb{R}$, $\kappa = v + (b+1)/2$ and $q \notin \mathbb{N}_0$. For $n \in \mathbb{N}_0$ and $|s| < 1/2$, it is easy to show that the sequences

$$\{\omega_{n,s}(-c/4)^n / [(\kappa, n)n!]\} \text{ and } \{\omega_{n,s}(p, n) / [(q, n)n!]\}$$

are decreasing provided that $\kappa \geq \max\{-1, s^2 - c/4 - 1/4, -c/(1-4s^2)\}$ and $q \geq \max\{0, s^2 + p + 3/4, 4p/(1-4s^2)\}$. Putting $\lambda_{u_v}(r) = u_v(r^2)$ and $\lambda_{\Phi}(r) = \Phi(p, q; r^2)$, then by Theorem 3, one can immediately obtain the following corollary.

COROLLARY 1. Let $v, b, c, p, q \in \mathbb{R}$ and $|s| < 1/2$ such that $\kappa \geq \max\{-1, s^2 - c/4 - 1/4, -c/(1-4s^2)\}$ and $q \geq \max\{0, s^2 + p + 3/4, 4p/(1-4s^2)\}$. Then $F_1(x) \equiv u_v(x)/F_s(x)$ and $F_2(x) \equiv \Phi(p, q; x)/F_s(x)$ are decreasing on $(0, 1)$, and in particular, for all $r \in (0, 1)$ and $s = 1/4$,

$$\lambda_{u_v} \left(\frac{\sqrt{8r(1+r)}}{1+3r} \right) \leq \sqrt{1+3r} \lambda_{u_v}(r), \quad (19)$$

$$\lambda_{\Phi} \left(\frac{\sqrt{8r(1+r)}}{1+3r} \right) \leq \sqrt{1+3r} \lambda_{\Phi}(r). \quad (20)$$

REMARK 3. If we take $s = 0$, $x = r^2$ and $y = 4r/(1+r^2)$ ($s = 1/6$, $x = r^3$ and $y = 9r(1+r+r^2)/(1+2r)^3$) in Theorem 3 and in Corollary 1, then it is not difficult for us to verify that $0 < x < y < 1$, $S(x) \leq S(y)$, $F_1(x) \geq F_1(y)$ and $F_2(x) \geq F_2(y)$ by the monotonicity properties of S , F_1 and F_2 , thus resulting in [4, Theorems 2 & 3] ([13, Theorem 2.4 & Corollary 2.5], respectively).

QUESTION. As indicated in Section 1, there have been many studies of F_s in the case when $s = 0, 1/4, 1/6$, and however, there are few similar study of the corresponding properties of F_s for $s = 1/3$. The following question is natural: *What are the analogues of the known results, such as Theorem 1, (17) and (19)–(20), for F_s in the case when $s = 1/3$?*

Acknowledgements. 1. This research was supported by the Natural Science Foundation of Zhejiang Province (Grant No. LQ17A010010) and the Natural Science Foundation of China (Grant No. 11671360).

2. The authors would like to thank Prof. Song-Liang Qiu for his guidance on correcting language errors, and to the anonymous reviewers for their helpful suggestions.

REFERENCES

- [1] G. ALMKVIST, B. BERNDT, *Gauss, Landen, Ramanujan, the arithmetic-geometric mean, ellipses, π , and the Ladies Diary*, American Mathematical Monthly, **95**, 7 (1988), 585–608.
- [2] Á. BARICZ, *Landen-type inequality for Bessel function*, Computational Methods and Function Theory, **5**, 2 (2005), 373–379.
- [3] Á. BARICZ, *Generalized Bessel functions of the first kind. Lecture Notes in Mathematics 1994*, Springer-verlag, Berlin Heidelberg, 2010.
- [4] Á. BARICZ, *Landen Inequalities for special functions*, Proceeding of the American mathematical society, **142** (2014), 3059–3066.
- [5] B. C. BERNDT, S. BHARGAVA, F. G. GARVAN, *Ramanujan's theories of elliptic functions to alternative bases*, Transactions of the American Mathematical Society, **347**, 11 (1995), 4163–4244.
- [6] J. M. BORWEIN, P. B. BORWEIN, *Pi and the AGM: A study in analytic number theory and computational complexity*, John Wiley & Sons, New York, 1987.
- [7] F. G. GAVRVAN, *Ramanujan's theories of elliptic functions to alternative bases—a symbolic excursion*, J. Symbolic computation, **20** (1995), 517–536.
- [8] X. Y. MA, S. L. QIU, G. Y. TU, *Generalized Grötzsch ring function and generalized elliptic integrals*, Applied Mathematics-A Journal of Chinese Universities. Series B, **31**, 4 (2016), 458–468.
- [9] S. PONNUSAMY, M. VUORINEN, *Asymptotic expansions and inequalities for hypergeometric functions*, Mathematika, **44**, 2 (1997), 278–301.
- [10] S. L. QIU, M. VUORINEN, *Special functions in geometric function theory. In book: Handbook of Complex Analysis: Geometric Function Theory*, Elsevier Sci B V, Amsterdam, **2** (2005), 621–659.
- [11] S. TAKEUCHI, *A new form of the generalized complete elliptic integrals*, Kodai Mathematical Journal, **39**, 1 (2016), 202–226.
- [12] S. TAKEUCHI, *The complete p -elliptic integrals and a computation formula of π_p for $p = 4$* , The Ramanujan Journal, **46** (2018), 309–321.
- [13] M. K. WANG, Y. M. CHU, Y. P. JIANG, *Ramanujan's cubic transformation and generalized modular equation*, <http://arxiv.org/pdf/1305.6525.pdf>.
- [14] M. K. WANG, Y. M. CHU, Y. P. JIANG, *Ramanujan's cubic transformation and inequalities for zero-balanced hypergeometric functions*, Rocky Mountain Journal of Mathematics, **46**, 2 (2016), 679–691.
- [15] M. K. WANG, Y. M. CHU, Y. P. JIANG, D. D. YAN, *A class of quadratic transformation inequations for zero-balanced hypergeometric functions*, Acta Mathematica Scientia, **34 A**, 4 (2014), 999–1007.
- [16] W. WANG, J. J. PAN, S. G. YANG, *Inequalities for Gaussian hypergeometric functions*, Journal of Mathematical Inequalities, **11**, 1 (2017), 27–39.

(Received March 1, 2018)

Xiao-Yan Ma
Department of Mathematics
Zhejiang Sci-Tech University
Hangzhou, Zhejiang, 310018, P.R. China
e-mail: mxy@zstu.edu.cn

Ti-Ren Huang
Department of Mathematics
Zhejiang Sci-Tech University
Hangzhou, Zhejiang, 310018, P.R. China
e-mail: htiren@zstu.edu.cn